M!A M IDADE MIAMI-DADE COUNTY, FLORIDA

I METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Therma-Tru Corp.
1687 Woodlands Drive
Maumee, OH 43537

Scoprk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Hi gh Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “FiberClassic/Smooth Star” Opaque Fiberglass Door 8’0 Inswing

APPROVAL DOCUMENT: Drawing No. S-2099, titled ““FiberClassic/Smooth Star” Up To 105.5” x 8-0 w/&
w/out 14’ SL, Inswing”, sheets 1 through 7, prepared by RW Building Consultants, Inc., dated 3/18/02, bearing the
Miami-Dade County Product Control Approval stamp with the Notice of Acceptance number and approval date by
the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: None

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

The submitted documentation was reviewed by Raul Rodriguez

NOA No 02-0109.04
Expiration Date: July 18, 2007
Approval Date: July 18, 2002
Page 1




- 37.5" MAX. [e——105.5" MAX. OVERALL FRAME WIDTH ——=
0

VERALL WIDTH 13.9375" MAX. 36.625" MAX. 15.5" MAX.

PANEL WIDTH W/ASTRAGAL D> .
P 13.9375" MAX.
PANEL WIDTH

THERMATRU®

"FIBER CLASSIC"/ "SMOOTH STAR"
FIBERGLASS DOOR

80 INSWING WITH & WITHOUT SIDELITES

a GENERAL NOTES A\

1. THIS PRODUCT IS DESIGNED TO MEET THE SOUTH FLORIDA BUILDING
CODE 1994 EDITION FOR MIAMI—DADE COUNTY.

2. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO
TRANSFER LOADS TO THE STRUCTURE,

PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN
ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL BEYOND

WALL DRESSING OR STUCCO.

DESIGNED PRESSURE RATING SEE TABLE PAGE 1.

THIS PRODUCT DOES NOT MEET THE WATER REQUIREMENTS FOR

MIAMI—DADE COUNTY.

MIAMI-DADE APPROVED IMPACT RESISTANT SHUTTERS ARE REQUIRED.

SIDELITES ARE AN OPTION AND CAN BE USED IN A SINGLE OR
DOUBLE CONFIGURATION.

UNIT SHALL BE INSTALLED ONLY AT LOCATIONS PROTECTED BY
CANOPY OR OVERHANG SUCH THAT THE ANGLE BETWEEN THE EDGE
OF CANOPY OR OVERHANG TO SILL IS LESS THAN 45 DEGREES.
UNLESS UNIT IS INSTALLED IN NON—HABITABLE AREAS WHERE THE

UNIT AND THE AREAS ARE DESIGNED TO ACCEPT WATER INFILTRATION]|SINGLE INSWING UNIT @ U

\ 4 ALL MODELS ~— 68.5” MAX. OVERALL WIDTH=

74.5" MAX. OVERALL ARE VIEWED 36" MAX.
(r RES{DENTIAL INSULATED FIBERGLASS ?OOR ﬂ

7.125" 7.125" MAX.
MAX. ] IN—ACTIVE ACTIVE D.L.O. WIDTH

D.L.O. R—T_ =1 &=
WIDTH l

i
[
]
=1

T

w
MAUMEE, OHIO
PH. (800) 537—-8827

THERMA-TRU CORPORATION
1687 WOODLANDS DRIVE

== | ™

D

=~——95.25" MAX. DOOR PANEL HEIGHT —=

-

78.5" MAX. D.L.O. HEIGHT

=
H

98" MAX. OVERALL FRAME HEIGHT

™ N® oA
Y
-

"SMOOTH

UPTO 105.5" x 8-0

L |

/

SEE'T'ETAIL"'#"' @"_‘—"' —_

|=— 98" MAX. OVERALL FRAME HEIGHT
e
11

TYPICAL ELEVATIONS
& GENERAL NOTES

FIBER CLASSIC

STAR™
W&W/OUT 14 SL, INSWING

PART OR ASSEMBLY:

PRODUCT:

D

13.9375" MAX.
PANEL WIDTH

FRAME WIDTH FROM INTERIOR PANEL WIDTH
Common to all frame conditions

Door & Sidelite Leaf Construction: E lg hl

Face sheets: Fiberglass avg. min. yield strength FY= 6°000 psi
SmoothStar Sash Skin — 0.070" minimumn skin thickness
IN—ACTIVE ACTIVE

WLN
B

By

7.125"
MA

7.125" MAX.
D.L.O. WIDTH

i

FiberClassic Panel Skin — 0.110" minimum skin thickness
ore design; Polyurethane foam core, with1.9 Ibs. density b(y BASF.
el s ‘t 'dTﬂs panel sﬁn ;z cfons(tjruct:’ted froml a O‘O70t';] hz. {or

single door. without sidelite, 117 or double & single door with sidelites
shegef molding compgund (%Maé?d ?he inter‘t‘or cavﬁy :ls ﬁlec} gi?h ?J !gs. ensﬂy BASF
ro%urq}t_hane foam. The panel face sheets are glued to the wood stiles and rails.

n the, Fiber Classic™ model the [V fatch stile is reinforced with a w%od lock block measurin
2.375" x 14.0" long at the stike and deadbolt location. In the mooth Star  model the latch
stile is a one piece compasite stile and strike lock block measuring 1.531" x 4.024" thk. runm'n? the
length of the 'doors latch stile. The hinge stile is Finger Jointéd Pine and the top and bottom rail
are of a wood composite material. In the double door application the inactive door is fitted
with on extruded aluminum astragal of 6060-T6 alloy.
frame Construction: The frame is constructed from ﬁnﬂer jointed pine. The header is
Joined to the side jambs with {J) !8 x 2 1/2" long Phillips flathead screw at each
side. The mullions are secured together in a sidelite application using #8 x 2" long PFH
Wood Screws (6) screws per each mullion. The units uses an Inswing saddle threshold
measuring 5.75° x 1.548".
Sidelite Glazing: The sidelite panels are sandwich glazed using a two piece lip lit frame.
They are dry glazed on the exterior with an 1/8" thk. cellular glazing tape,
(Stik—!l Tape) & Dow 795 Silicone. The lite frames are held together with a #8 x 1.5°
&ng Plascrew or a #6—18 1 3/4" long PFH screw. j

D.L.O.
WIDTH

|
=
1

ﬂ£ ]

[l=—— 98" MAX. OVERALL FRAME HEIGHT

95.25" MAX. OVERALL
GENERAL REVISION

REVISIONS

P

~— DR
«::lF.ﬂ =

i SEE-EHAIL‘—TJ'* =

SHEET 3

&

SIDELITE PANEL HEIGHT
f=——78.5" MAX. D.L.O. HEIGHT

3/18/02
DATE

-
1
NO

[

%WBUILDING

e} CONSULTANTS, INC
GLE IDELITES INSWING UNIT 813.684.3831

[=—— 98" MAX. OVERALL FRAME HEIGHT

!

Z

TABLE OF CONTENTS DOUBLE INSWING UNIT
SHEET # DESCRIPTION e 11/09/01

N PRESSURE RATING (WHERE WATER INFILTRATION REQUIREMENT IS NOT NEEDED :
TYPICAL ELEVATIONS & GENERAL NOTES DESIG ( ) Approved as complying with the | N-T.S.

VERTICAL CROSS SECTIONS & BILL OF MATERIALS UNIT TYPE WITHOUT SURFACE BOLTS WTH SURFACE BOLTS Fisrida Buiding Code bwe. BY:  TUH

HORIZONTAL CROSS SECTIONS SINGLE + 610 PSF_- 610 P V.S TS Date iy \8, 2001 p—

NOA#_o02- Sp0q oY
HORIZONTAL CROSS_SECTIONS & NOTES DOUBLE + 47.0 PSF - 47.0 PSF|+ 60.0 PSF - 60.0 PSF

ANCHORING LOCATIONS & DETAILS Do Dade P J‘yﬂ') 003

NV O P N[N |-

ANCHORING LOCATIONS & GLAZING DETAILS S'uﬁﬁf ngES}JEBSLE + 47.0 PSF - 47.0 PSF|+ 60.0 PSF - 60.0 PSF
UNIT_COMPONENTS SHEET 1 OF 7




()

Id . “ 4‘ 44 i . . . et " Eﬂi
: = . ‘ . 4 da ' L. : =
0 . b ' < a4 - ou
. P L, ) t e - @ h.
@—_ A/‘
JLG— /@
? ~
by //7/
é;{j \-_' o
Im 9 Tt
ns . SURIRCITRL
NE Zx —
'% =2 St
w9 o Lo
-LQ O 8 0 '-a',‘o.
00 0 <
. - 0 &
— 0. & L T
SIS T
s 500 s 3
L R . W <
T 0 . 0 T R
W Q2o 2o
= o o 3
E EXTERIOR o) ‘p || INIERIOR & &
3 N X O
2 }ﬁ ; = x
Ll . .M .0 . <
3 Jo, g =
L 1.68" MIN. __llo" =0+l 8 9
o PANEL THK. |l = o g . o
.2 %0
092
.00
2 /@
@) o
Z 5 2
= =
X g
~ G Q

@
.25" MAX. SHIM —=ff |=—

- . | 4

SEE NOTE

8 SHT. 4

SEE NOTE
1 SHT. 4

‘3“7‘—\"
.5" MIN.
GLASS THK.

- INTERIOR
25

95.25" MAX. OVERALL PANEL HEIGHT

1.68" MIN.
PANEL THK.

'...

:"]

« | SEE NOTE
- .15 SHT. 4

a - ,4 7 . .

s P AAJP:“" ';

m VERTICAL CROSS SECTION

\2/ DOOR PANEL

2"\ VERTICAL CROSS SECTION
\2 / SIDELITE PANEL

Item DESCRIPTION Material
FC PANEL SKIN 0.11" MIN. THK. FIBERGLASS BY
1 | THERMA-TRU with yield strength Fy(min.)=6,000 psi FIBERGLASS g L
SS SASH PANEL SKIN 0.07" MIN. THK. FIBERGLASS BY EE N

1A_|THERMA-TRU with yield strength Fy(min.)=6,000 psi FIBERGLASS IS 3
2 [FC. TOP RAIL (1.531" x .94" THERMA-TRU WOOD COMPOSITE) | WOOD COMPOSITE O 0
3 |FC. LATCH STILE (THERMA—-TRU, WOOD COMPOSITE 1.531" x 1.209")| WOOD COMPOSITE 2 Vx|

4 |FC. HINGE STILE (THERMA—TRU, PONDEROSA PINE 1.531" x 1.209')] WOOD i % SN
5 |FC. BOTIOM RAL (1.531" x 1.25" THERMA-TRU WOOD COMPOSITE) | WOOD COMPOSITE 8 < R
6 | POLYURETHANE FOAM (BASF, 1.9lbs. DENSITY) FOAM = L

7 | SHORT REACH COMPRESSION WEATHERSTRIP (THERMA—TRU)| FOAM QLD
8 |LONG REACH COMPRESSION WEATHERSTRIP (THERMA—TRU) | FOAM E S § S
9 |4" x 4° HINGE .097" THK. (THERMA—TRU) STEEL e =30
10 | #10 x 3/4" Ig. PFH WOOD SCREW (Hinge to Frame) STEEL § N =

11 [NOT USED - Eypy T
12 [#10_x 2" LG. PEH WOOD SCREW STEEL We o
13 |#8 x 2 1/2" LG. PFH WOOD SCREW STEEL E —

14 |3/16" TAPCON ANCHOR (ELCO) STEEL

15 | SIDELITE BOTTOM BOOT .090° EXTRUDED VINYL | VINYL

16 | 2x INNER WOOD BUCK WOOD O

17 | MAX. 1/4° SHIM_ MATERIAL WOOoD oS

18 | KWIKSET TITAN 700 SERIES_PASSAGE _LOCK — S o
19 _[SELF ADJUSTING INSWING_SADDLE THRESHOLD ALUM./Wo0D|| 7. 5| 4
20 |4.563" x 1.25° HEADER (THERMA—TRU, PONDEROSA PINE) | WOOD g RBo
21 |4.565" x 1.25° SIRIKE JAMB (THERMA—TRU, PONDEROSA PINE)| _WOOD LRV OZ
22 |4.563" x 1.25" HINGE JAMB (THERMA-TRU, PONDEROSA PINE) | WOOD A g 25
23 |KWIKSET TITAN 700 SERIES DEADBOLT - So-|a Qi
24 | ASTRAGAL WINDJAMBER Il WRBOT (.052" WALL) |ALUM. (60607-6)|.. © &5]< &
25 |GLAZING, 1/2" INSULATED TEMPERED GLASS GLASS RS ERE
26 |NOT USED — § Do)

27 1#8 x 1° LG. PANHEAD SHEET METAL SCREW STEEL b E

28 | INSWING DOOR BOTTOM SWEEP VINYL

29 [§6-18 x 1 3/4 PHILLIPS FLATHEAD SCREW (FOR NTEM #33) | STEEL = %
30 | FC WOOD LOCK BLOCK 2.375" x 1.515" (PONDEROSA PINE) WOooD

31 |NOT USED -

32 | 1/8 THK. CELLULAR GLAZING TAPE (STIK—Il TAPE) - S
33 | PLASTIC UP LITE FRAME (PVC, THERMA-TRU) PVC ‘é’
34 | PLASTIC LIP_LITE FRAME (SMC, THERMA—TRU) SMC &l |,
35 |4.563" x 1.25" BLANK JAMB (THERMA—-TRU, PONDEROSA PINE) | WOOD z
36 | SIDELITE SIDE STILE (THERMA—TRU, 1.531% x .656° PONDEROSA PINE]  WOOD é 2
37 |#10 x 1 3/4" LG. PFH WOOD SCREW STEEL & >
38 |NOT USED — &
39 [NOT USED —

40 |SILICONE CAULK (DOWM 795) SILICONE ~
41 |#8—10 x 1 1/2" PLASCREW (FOR ITEM #34) STEEL SE
42 | SDELITE TOP & BOTIOM RAIL (THERMA-TRU, 1.531" x .656° PONDEROSA PNE)] WOOD N
43 [#8 x 2" LG. PFH WOOD SCREW STEEL e
44 |3/8" x 3/8"° QUARTER ROUND FINGER JOINTED PINE| _WOOD 18
45 [1” L. x .040" DIA. BRAD TRIM NAIL STEEL =
46 |IVES SURFACE BOLT §#454 .25 STEEL STEEL

47 |1/4-20 SEX BOLT W/ 1/4—20 FEMALE END STEEL ,%‘M/

BUILDING
CONSULTANTS, INC

B813.684.3831

Approved as complying with the
Florida Buiding Code
Date_Jutly (5%; 2os2

NOA# c2-opp ' 0Y

Miami Dade uct Conprql
Divisi
B

oatE: 11,/09/01

SCALE: NTS

owe. BY:  TJH

CHK. BY: RwW

DRAWING NO.:
S5-2099

SHEET _2 oOF _7




HORI ONTAL CROSS
@ SIDELITE TO BUCK

X
Z¥ SEE NOTE 2
=k SHT. 4
-~
°z (9
| INACTIVE <:)\\\ ACTIVE
: o. o ;,F’, _".-'o.?' y ._°"”°I°.'."'.; G:QJO
é7 “<. 00, =g, e ey o...‘*cb
‘9:..°_'.o e
a0 e e Sy 0 T
ASTRAGAL RETAINER BOLTS,
(2) 17.0" LG. x 0.312" DIA. @ TOP & 3 (30)
(2) 8.0" LG. X 0.312" DIA. ® BOTTOM
(4) BOLTS TOTAL
INTERIOR @
(SEE DESIGN PRSSURE CHART)
1.15" MIN.
EMB.
—| | .25" MAX. SHIM
15" MIN.
— C—SINK
L
R SEE NOTE 5
MR SHT. 4 .
9. 2 EXTERIOR
C OB L
R %3(
JT N |
L g . -
S 0 G \ o .
! R Sm
(39 04
L Q
o SEE NOTE
A 8 SHT. 4
SHT. 4

SEE NOTE 6

7
EXTERIOR |

1.68" MIN.
PANEL THK.

SEE NOTE
7 SHT. 4 8 SHT. 4

EE; @ HINGE JAMB TO SIDELITE

f SEE NOTE
5 SHT. 4

43

THERMA-TRU CORPORATION
MAUMEE, OHIO
PH. (800) 537—8827

1687 WOODLANDS DRIVE

45
SEE NOTE

D

ACTIVE

eao'b

o ..

S o ] o |

@. . %
‘e, O

'/"SMOOTH
05.5" x 8-0
INSWING

1

WaW/0UT 14 SL
HORIZONTAL
CROSS SECTIONS

"FIBER CLASSIC”,
PART OR ASSEMBLY:

PRODUCT:
STAR” UPTO

GENERAL REVISION | WIN |

REVISIONS

3/18/02
DATE

47

AILII "

OPTIONAL SURFACE BOLTS ON ACTIWE PANEL
(SEE DESIGN PRESSURE CHART)

1
NO

BUILDING
CONSULTANTS, INCJ

813.684.3831

oATE: 11,/09/01

SCALE: NTS

Approved as complying with the
Flonda Buiding Code

DWG. BY: TUH

Date_ o'y 1%

CHK. BY: RW

NOA# 0% o1 6 &meef

DRAWING NO.:
S-2099

SHEET 3 oF 7




. L 1.15" MIN. 1.15” MIN. p—
a EMBED. EMBED. - >
' - .15" MIN. 15" MIN. __, O Sy
C—SINK C—SINK [‘ DN EE N
RS 29,3
. o Q % N
ZT Z+ M
SF Q< .18
@ % I D~
©Z Os0O
2 £OS
Ly | EXTERIOR | Q $ = =
= — e e e s Ty T
/\ - . : ° [ ‘a' Lo T e T o - LuCO I
1 o i R I I T e a
i - o =% Lo 0T s ~
D\ a P , o - -3 Jeo e e g gt
o Poen i e e f AL
: ’ * INTERIOR | 0 / =09
¥ S
2 Q o>
= E g x‘é’ g’l@
N~ ° YR
. 8= - 22 N2gd. o
Si—ﬁa SmxéE v-n<_ a AORIZONIA Hatl ON o -25" MAX. ((7_::‘91“)% &Jﬂ
INTERIOR o HINGE JAMB TO BUCK, SHIM SPACE go: = %(2
—
) ] .oak % NS
1\ HORIZONTAL CROSS SECTION el O3l €5
LATCH JAMB TO_ BUCK, SEE NOTE SN
(SEE DESIGN PRESSURE CHART) - elE 3=
NOTES: (43 A B
1. SPACING FOR ITEM #29 & #41 (LITE FRAME SCREWS) , =k
IS AS FOLLOWS: FROM THE BOTTOM UP ON SIDES; 6.5”, z ¥ LXTERIOR
WITH (7) MORE SPACED AT 9.875" 0. C. THERE ARE (2) =F
SCREWS BOTH TOP AND BOTTOM AT 2.125" IN FROM EACH » Z
CORNER. ©Z Q0
2. SPACING FOR ITEM #27 #8 x 1" PANHEAD SCREW Aoy L 8
ATTACHING THE ASTRAGAL TO THE INACTIVE DOOR IS AS 17/ i 2
FOLLOWS: FROM THE TOP DOWN 1% 3" 5" 18.25" 54" 17— . N { 2
77", 90.25", 92.25 & 94.25" /4 N &% >
3. THE HEAD JAMB IS ATTACHED TO THE SIDE JAMBS WITH ,].Eg ) : \ R L S o
(3) #8 X 2.5" PFH WOOD SCREW. > A i L E e de
4. THE THRESHOLD IS ATTACHED TO THE SIDE JAMBS WITH _ /-, i A SRR
#8 X 2.5" PFH WOOD SCREW. X él N1 T S 1
5. THE SIDELITE IS DIRECT SET INTO THE JAMB WITH (12) ITEM gr % G AV ] B
#43 A #8 x 2" PFH. WOOD SCREW. THERE ARE (4) AT y’ . i
EACH VERTICAL JAMB, FROM THE TOP DOWN AT 13.5", 0 g 23 IS
31", 48.5" 66". THERE ARE (2) AT THE HEADER AT 4" A @ = Z
FROM THE OUTSIDE CORNERS OF THE FRAME. THERE ARE SEE NOTE @ o
(2) AT THE SILL, 4 FROM THE OUTSIDE CORNERS. SEE NOTE 1 8 SHT. 4 <32 R‘Mfau.mmc
6. SPACING FOR ITEM #43, A #8 x 2" SCREW SECURING SHT. 4 —a CONSULTANTS, INC]
THE MULLIONS TOGETHER IS THE SAME AS THE PERIMETER /3N NTERIOR (i8) 813.684.3831
ANCHORING SCREWS. 6" DOWN FROM THE TOP AND UP ’;g EAM’;TO = ETLE
FROM THE BOTTOM WITH (4) MORE SPACED AT 17.2" O.C. oate: 11,/09/01
7. WHEN ATTACHING THE HINGE TO THE JAMB AND THE BUCK (SEE DESIGN PRESSURE CHART) Aooroved as complying with the  |SSRE  NTS
USE ITEM #12 A #10 x 2" SCREW. WHEN ATTACHING THE Florida Buiding Code e TN
HINGE TO THE JAMB AND THE SIDELITE AT THE MULLION Date__ v i

NOA# 02-cr 04.0Y CHK. BY: RW

USE ITEM #37 A #10 x 1 3/4" SCREW.

8. SPACING FOR ITEM #45, THE BRAD TRIM NAIL SECURING
THE QUARTER ROUND TO THE SIDELITE FRAME IS AS

Miami Dade Fro,

¢t Control
Divisti 3 #

By .

DRAWING NO.:
S—20989

FOLLOWS: 2.0" FROM ALL ENDS AND A MAX. OF 12.0" 0.C.

SHEET 4 oF 7




SEE DETAIL "F" SHT. 5

| [H !

Uu_ . . e . . -3- . « L) ol
6" —n —— -— " — r-—-s"
3”—— e ~tad _—3"

ret— 3”

‘—6"

- 53%53% % :—Fl - 3"

Tﬂ
SEE NOTE : YP. @ 7
3 SHT. 4 SEE NOTE SEE DETAL TYP.
_ ] /-6 SHT. 4 *F" SHT. 5 M_ _
8
TYP. i = T s
| % sec peTAL = NE
- I “6"sHT. 5 L 0
SEE NOTE __—" SEE DETAIL
@ 6 SHT. 4 /”E”, SHT. 5
TYP. ﬁ > TYP.
SEE DETAIL
e , SEE NOTE
- H™ SHT. 5 _ 4 sHT. 4
‘“ 5" ) % T
N 1 | "B
3" — l-:l—‘ “t"‘l b 37
3"~ I+ SEE DETAL 6 dof 3"
" | "H" SHT. 5 N TR
oUBL W/SID
SEE NOTE NS T | /\ SURFACE BOLT
7 SHT. 4 10 STRIKE PLATE  SEE ”é%TTE
/] . .
— SEE NOTE
THIS SHT.
DETAIL “E"
DETAIL F DETAIL G

ASTRAGAL RETAINER BOLTS HEADER
STRIKE PLATE & OPTIONAL
SURFACE BOLT STRIKE PLATE

Sy -

SEE NOTE

*/—JSHT4_L

_ i
2
N
« 2
S =
Vo]
B
%
N
t
3/
SEE DETAIL _/
"G” SHT. 5 .
=— "C"
-

DRILL THRU FOR
A ©.357" BOLT DEEP
ENOUGH FOR A 2"

BOLT THROW
SURFACE BOLT
{ 7 STRIKE PLATE
\ /i
D ﬂ ! “ I‘[ [ ”

ASTRAGAL RETAINER BOLT HOLES

& OPTIONAL SURFACE

BOLT STRIKE PLATE AT SILL

SINGLE DQOR

'

6.125" —
25.625" —

4PLCS
. £70
o

25.5" ——l~

"SMOOTH

)
||

SEE DETAIL _J

“E" SHT. 5
TYP.

AW 4
N

L—' 25.5"7

PRODUCT:

llD'_l___>

=1
||

rimal
SEE NOTE
4 SHT. 4

USE ITEM #13 A #8 x 2 1/2" PFH WOOD SCREW TO
ATTACH THE STRIKE AND DEADBOLT PLATES TO THE
JAMB OR ASTRAGAL EXCEPT IN THE MULLED
APPLICATION WITH THE SIDELITE USE ITEM #43 A #8 x
2" PFH WOOD SCREW.

MAUMEE, OHIO
PH. (800) 537-8827

1687 WOODLANDS DRIVE

THERMA-TRU CORPORATION

" x 8-0
INSWING

/
105.5
Si
ANCHORING LOCATIONS
& DETAILS

"FIBER CLASSIC"
PART OR ASSEMBLY:

STAR" UPTO
W&W/0UT 14

LN
BY

GENERAL REVISION

REVISIONS

3/18/02
DATE

1
NOJ

RWGUILDING

CONSULTANTS, INC
813.684.3831

Approved as complying with the
Florida Buiding Code
Date “S*\y | >

NOA# ;i E Zé §
Miami Dade Pradi t Cont
Division

Br_ B

DATE: 11/08/01
scae:  N.T.S.
DWG. BY: TJH

CHK. BY: RwW
JORAWING NO.:
S$-2099

SHEET _ S oF _7




SEE DETAIL "F* SHT. 5 | ,
"l - L] L] L L] L ] L] . I"
| {ka ] - 2
“ e . . .%T . . " 6 [ ‘——6 z LL]
3" ] I"3" 3" — 3" 802: N
» 67— SEE NOTE oN
SEE NOTE . 6" l‘ - | [~=3F " —] Q o
3 SHT. 4 ¢ "'I - | 1] 3 3 | - |/ 3 SHT. 4 | ] & oY
1 B CTT]] Tl gmg&
S @ @ | o0
® . 85 Tht
O TYP. TYP. ‘(O jon Q L —~
TYP. OSSO
- _ . - 1 - ~ g o>
SEE DETAIL " i " I
_ "F* SHT. 5 _ . S S @ . 8 n§:'\§ ‘
3 3 ~E 3 TYP. NE G =
_ _ 0 | — © e - Q.
SEE DETAIL i \SSEES,TT?TE SEE DETAIL
*G" SHT. 5 | F\ - E” SHT. 5
SEE DETAIL : TYP. pT
1z~ = E”, SHT. 5\< = - =N - S*5| ©
z £ TYP. 5/ @ = F @ g =2 gg
SEE DETAIL [ O Sl =B
.y SEE DETAIL _/ TYP. wen I TYP. NG I I
H" SHT. 5 St J— L8R 99
. T B NN I cH e g3 of
A m » n ” n " gc" % Z‘
"J"—— L "—K aam "L” TYP- ':- n K_. UES 9 %g
et \ Q - 2 c NOTE Slec"|3| S
. ‘ y - kil TYP_ [ = 4' SHT. 4 " l:—_.- ' 8 mm; Zﬂ
I _ ol Ll 1 K— ] §F§,§§<
A e e G e >
3” o — 3” ;
SEE DETAIL “H" SHT. 5 6" -— — 6" .
@—.ﬁa E Q
, = — ! - - S
\,
DOUBLE DOOR DOOR IDELITES =l o
2 8
2 [@
S| 2
[ad
.50" GLASS .50" GLASS
BITE 33\ 2 BITE S
EXTERIOR (1) (40) 40 3L
1/8" TEMPERED EXTERIOR 40 1/8" TEMPERED )
1% GLASS ' : , _-— 0 GLASS
g g { i 25" AR 2: g a. 0‘9 7 —L, 25" AR
CZi00 0 = SPACE ool o~ © °. g J 1 SPACE %Wamwmc
N\ o O 7] —_ NO 5 O Y . CONSULTANTS, INC
: Q . " . o : O o .25" STEEL
= 25" STEEL ¢ . T INTERCEPT _. X 1/8" TEMPERED |l 813.684.3831
INTERCEPT 2 ':E 1/8" TEMPERED SPACER z E GLASS
INTERIOR Y:) @ SPACER f& GLASS INTERIOR *: ) (a0 .2((2 DATE: 11,/09/01
@ ot 5 ok 5 Approved s complying with the SCALE: N.T.S.
(G] SE29 o Florida g\liidingng;e " DWG. BY: TJH
V N L)
SHT. 4 SHT. inTE ! gg,e\# Joi—\o io4. o CHK. BY: RW
DRAWING NO.:
5" INSULATED GLASS 25" INSULATED GLASS W/ i; S—2089
SMC LITE FRAME GLAZING DETAIL LITE _FRAME GLAZING DETA seer 6 oF 7




4:195-""

=1.25"

fe—————— 4.563" ————>

@

|—— 2.040"

@)
255

—
10722

FINGER JOINTED PONDEROSA PINE

.097" —'“‘—

x 4

T R HIN

FING

[~ 484"

~— 2.375" ~—’

—ot-1.047"

N
n

FC. TOP RAIL
WOOD COMPOSITE
(DOOR PANEL)

“ 8
10777 @

SN

Tl-—1 531"+

S

TOP &

ER JOINTED PONDEROSA PINE

RAI

FINGER JOINTED PONDEROSA PINE

H

+
@©
-

1.077" &

I‘—"l K

I

T 1,531~

FINGER JOINTED PONDEROSA PINE

(=755
)

NN 045 AL
B |
8] T ©
o] _| ©
SURFACE BOLT (Ivi 25" STEEL

fe—— 2.875" ——=

©@ 10O

TOP RAIL

WOOD COMPOSITE
(DOOR PANEL)

1.255"

M

~N

«
FC. HING
Si 1

N

.327

PLASTIC LIP_LITE FRA
EXTRUDED SMC

BY THERMA—-TRU
FOAM CELL CORE
W/VINYL JACKET

©
N

ﬁ@ "

]

Ff:éif"{l

@ PLASTIC LIP LITE FRAME

EXTRUDED PVC

ASTRAGAL RETAINER BOLTS,
(2) 17.0" LG. X 0.3125" DIA.

"1/—@TOP&(2)80"LG X

0.3125" DIA. @ BOTTOM

(4) BOLTS TOTAL

I
O e et

— 2.141" —=
~1.691" |

L

BOTIOM_BQOT

L1.343=-|

EXTRUDED VINYL WALL

‘ I-‘P.ZGA:‘ * . e
g T) & |
?_ === .ﬁ MNQIAMEEBJ.L.WR?.OI
@ -—1.531"-—] 'p '
[+ o]
FC. [ATCH SIDE STILE COMPOSITE
. 1.920"
E _
_'_‘_}_ [—.579" ]
§ it
OBl a
INSWING DOOR BOTTOM SWEEP

Lo °

o)

f— 2.25" —=

VINYL .080" MAX. WALL, .035” MIN. WA

1.281"

—| 179"

” LONG REACH

FOAM CELL CORE
W/VINYL JACKET

DRILL THROUGH

FOR

.357" DIA. ASTRAGAL

RETAINER BOLTS

DRILL THROUGH FOR A #8
PFH WOOD SCREW 2 PLCS

INDJA

R 1l WRB0T STRIKE PLATE

MAUMEE, OHIO
PH. (800) 537-8827

THERMA-TRU CORPORATION

1687 WOODLANDS DRIVE

(O]
543
©
S .2 g
0 = 2
Nl Y
80> o
i} [l
Q%5 =
goMi8l &
gn.r-.ﬂ -
gl QI8 =
el 3
olp <3lE
| B
ol
T
=z
<
=
® n
Z
2 5
n
= B
N
S
D'z
'\:O
M
-0
Z

R BUILDING

CONSULTANTS, INC
I 813.684.3831

Florida Buiding Code
Date Toly 1§, 202

Approved as complying with the

NOA# ©7-ol bd-oY

Miami 3358 I3
Divisisa

] (C:%

DATE: 11/09/01

Scae:  N.T.S

DWG. BY: TJH
CHK. BY: RwW

DRAWING NO.:
S—-2099

SHEET _/_ OF _7_




